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MECHANICS 2 (2017/18 spring) | PROBLEM SET 2. |

Problem 1.)
Consider the famous ,twin-paradox”. Let’s call the twins Bobby and George. Bobby travels to one
of the exo-planets of the Alpha Centauri system, that is 4.5 lightyears far from Earth, and it is
almost in rest in the reference frame of the Earth. The maximal speed of the spacecraft is 0.75c¢,
and the accelaration and braking times are negligeble.
After reaching his destination, Bobby studies the exo-planet for 1-year time and then he travels
back to Earth.

a.) Draw the world lines of Bobby and George in the Minkowski plane.

b.) How many years ages George, who stayed on Earth, until Bobby gets back to the Earth?

c.) How many years ages Bobby at the same time?
A (wrong) explanation of the twin paradox states, that the different aging is caused by the
acceleration of Bobby. Indeed, Bobby needs to have nonzero acceleration, if he wants to come
home. However, using the following thought experiment we can exclude that explanation.
Let’s suppose that Bobby and George both travel on the spacecraft, but at half distance George
decides to stop — using the spacecrafts rescure cabin — and takes a long holiday at a space-motel
that rests in the frame of Earth. When Bobby is traveling back, George accelerates his cabin to
0.75 c, joins Bobby in the spacecraft, and they arrive together back to Earth. We can see, that in
this case George and Bobby can have exactly the same acceleration processes.

d.) Draw the modified world line of George in the figure!

e.) How much time does George spend in the motel?

f.) What is George’s total aging during the travel?

Problem 2.)
In the upper athmosphere p-mesons are produced by cosmic rays colliding with molecules, and
then these unstable particles are moving with almost constant velocity towards the Earth’s
surface. The half time of decay for resting p-mesons is 77, = 1,5 pus.
a.) Assuming the Newtonian mechanics to be correct, what distance would a p-meson travel
(with having velocity v = ¢ ) until it is expected to decay?
b.) Assuming that p-mesons are produced in an altitude of 10 km, what fraction of them
would reach the Earth’s surface?
We know that Newtonian mechanics fail to describe the above questions. We want to measure the
velocity of p-mesons, therefore we perform the following experiment. We have created two
identical p-meson detectors. One is attached to a wheather balloon and is lifted up to h = 3 km
altitude. The other one remains on the surface of Earth. We measure n, = 700 counts at the balloon
while only ng = 500 counts on the surface in an hour.
c.) Assuming we know the V), velocity of the p-mesons, what is the connection between ny
and ng?
d.) According to the measured velues, determine the velocity of the p-mesons.

Problem 3.)
At time =0 two spacecrafts depart from Earth in perpendicular directions with velocities 3/3 c.
a.) Determine the position vectors ri(t) and ry(t) of the two spacecrafts as a function of time.
(Use a convenient coordinate-system in the reference frame of Earth.)
b.) Let’s sit in the reference frame of the spacraft ,,1”. Determine the position vector r;’(t”) of
the spacraft ,,2” in this reference frame.
c.) What is the velocity vector of the 2nd spacecraft in that reference frame? Determine also
the direction of this velocity vector.



Problem 4.)

There are given two 4-vectors with their contravariant coordinates in some inertial system,

d' =" d o @) and b = B° b’ b* b’). The metric tensor of the Minkowskian spacetime is simply
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a.) Using Einstein’s convention, and the metric tensor, express the Minkowski length square
of ¢, and the Minkowskian scalar product of a* és b*.

b.) How we define the covariant coordinates of these 4-vectors? Determine the a, = (ap a; a>
asz) and b, = (byg b; by b3) ,Jower index” coordinates. With the help of these covariant
coordinates, express again the Minkowski length square of ¢, and the Minkowskian scalar
product of @ és b,

c.) As we see, the indices can be lowered by multiplication with the g,, tensor. The inverse of
this manipulation is the ,raising” of indices. What tensor g“" can be used to raise the
indices?

Problem S.)
Consider the following transformation:

5/3 0 -4/3 0

-4/3 0 5/3 0

N, =
" 0 -1 0 0
0 0 0 1

a.) Consider the 4-vector a* =(1,1,0,0). What is its Minkowski length square? Apply the
above transformation on this vector. Show that its Minkowski length square is invariant.

b.) Consider the 4-vector b =(6,1,3,1), and show that its Minkowski lenght square is also
invariant.

c.) Show in general, that the transformation A', is a Lorentz transformation.

d.) Express the components b,. Express also the transformed 5’, components.

e.) Determine the appropriate form of A, that transforms the lower-index vectors: b' = A /b, .

f.) Show that a"b, remains invariant.
g.) Show directly that A /A’ = &,.



MECHANIKA 2 (2017/18 tavasz) [GYAK 2.

1.) Feladat
Tekintsiik a hires ikerparadoxont. Az ikerpar egyik tagja (legyen a neve Bobby) egy trhajoval,
melynek utazosebessége 3c/4, elutazott az Alpha Centauri csillag naprendszerébe, hogy
megvizsgalja az ott talalt két exobolygdt. Az Girhajé az utazosebességét az utazds idejéhez képest
elhanyagolhato idd alatt éri el, és elhanyagolhat6 id6 alatt le is f¢kez. Bobby miutan megérkezett,
egy (161di) évig vizsgalatokat végez, és ezutan tér haza. Tudjuk, hogy az Alpha Centauri tavolsaga
a Naptol 4,3 fényév, ¢s a Naphoz képest mért sebessége a fénysebességhez képest elhanyagolhato.

a.) Rajzoljuk fel az ikertestvérek vildgvonalait a Minkowski sikon!

b.) Mennyit oregszik George, a Fo6ldon hagyott ikertestvér, amig Bobby visszatér az

utazasbol?

c.) Mennyit dregszik Bobby?
Az ikerparadoxont probaltdk tigy magyardzni, hogy annak oka a mozgd ikerpar gyorsuldsidban
keresendd, hiszen a Iényeges eltérés a két ikerpar kozott az, hogy egyikiiknek mindenképp
gyorsulnia kell, hogy hazatérhessen. Ezt a hibds magyarazatot a kdvetkezd gondolatkisérlettel
zarhatjuk ki:
Tegytik fel, hogy Bobbyval egylitt George is elindult az utazisra, azonban féluton az trhajo
mentokabinjaval megallt egy, a Naphoz képest allo trbeli fogaddéban. Amikor testvére jott
visszafelé, a kabint felgyorsitva csatlakozott hozza, €s igy egylitt tértek vissza a Foldre. Lathatjuk,
hogy ebben a gondolatkisérletben mindkét ikerpar pontosan azonos gyorsulasokat szenved el.

d.) Rajzoljuk fel George modositott vilagvonalat az dbrara!

e.) Mennyi iddt t6ltott George a fogadéban?

f.) Mennyit dregedett George ebben az esetben a teljes utazas soran?

2.) Feladat
A miionok a kozmikus sugarzas hatasara keletkeznek a felsd atmoszféraban, és ezutdn jo
kozlitéssel egyenletes sebességgel haladnak a foldfelszin irdnyaba. Laboratériumi koriilmények
kozott kimérték, hogy a miionok (amik nem stabil részecskék) 7, = 1,5 us felezési idével
elbomlanak.
a.) Ha a nemrelativisztikus mechanika torvényei lennének érvényesek, mekkora utat tenne
meg egy (gyakorlatilag) fénysebességgel mozgod miion, amig varhatéan elbomlik?
b.) Feltéve, hogy a miionok 10 km magassidgban keletkeznek, hanyadrésziik érné el a
Foldfelszint a ,,nemrelativisztikus” modell szerint?
Szeretnénk megmérni a miionok sebességét, ezért a kovetkezod kisérletet eszeltiik ki. Készitiink két
egyforma miiondetektort, az egyiket egy meteorologia ballonnal 2 = 3 km magassagba emeliink, a
masikat a felszinen hagyjuk. Ezutan megmérjiik az atlagos beiitésszamot egy oOra alatt. Azt
talaltuk, hogy a ballonon 1évé detektor atlagosan n,=700, a felszinen 1évo n=500 beiitést szamol.
c.) Feltéve, hogy a miionok V, sebességgel mozognak, adjuk meg az ny és n, kozotti
Osszefliggést!
d.) A mérési adatok ismeretében adjuk meg a miionok V,, sebességét!

3.) Feladat
A Foldrél a =0 id6pontban két irhajo indul egymasra merdleges iranyban, 3/5 ¢ sebességgel.
a.) Vegylink fel egy kényelmes koordinatarendszert. Adjuk meg az tirhajok ri(t) €s ry(t) hely-
id6 fuggvényét!
b.) Uljiink at az ,,17-es tirhajohoz rogzitett rendszerbe! Adjuk meg a ,.2”-es tirhajé r,’(t*) hely-
id6 fliggvényét ebben a rendszerben!
c.) Adjuk meg a ,,2”-es lirhajo sebességvektorat ebben az 0j rendszerben! Mekkora sz6get zar-
ez be az ,,1”-es Urhajot a Folddel 6sszek6to egyenessel?



4.) Feladat

Legyen adott két négyesvektor a kontravaridns koordinataival valamely inerciarendszerben,

d' =@ d o a)és v =" b b’ b’). A Minkowski téridé metrikus tenzora pedig
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a.) Elevenitsiik fel a (specidlis relativitaselméletnek megfeleld) Einstein-féle Osszegzési
konvencio szabalyait! A metrikus tenzor segitségével fejezzik ki ¢ Minkowski-
hossznégyzetét, ill. &* és b Minkowski-skalarszorzatat!

b.) Elevenitsiik fel, hogyan definidljuk a négyesvektorok alsoindexes (kovarians) koordinatait.
Adjuk meg az a, = (ap a; az as) és b, = (by b; b> b3) alsdindexes koordinatakat, majd ezek
segitségével ismét fejezziik ki az ,,a” vektor Minkowski-hossznégyzetét, €s az ,,a” és ,,b”
vektorok skaldrszorzatét, ugy, hogy a formuldban mar ne jelenjen meg a metrikus tenzor!

c.) Mint lattuk, indexek ,lehuzdsat” a g,, tenzorral tudjuk elvégezni. Az index ,lehtizds”
mivelet inverze nyilvan az index ,,felhuzas”. Adjuk meg az ezt végrehajtd g" tenzort!

gpv =

5.) Feladat
Tekintsiik a kovetkezd transzformaciot:

5/3 0 -4/3 0

-4/3 0 5/3 0
N, =
" 0 -1 0 0

0 0 0 1

a.) Tekintsik az a* =(1,1,0,0) négyesvektort! Mekkora ennek Minkowski hossz-négyzete?
Hajtsuk végre ezen a vektoron a fenti transzformdaciot! Mutassuk meg, hogy a Minkowski-
hossz invarians maradt!

b.) Tekintsiik a b =(6,1,3,1) négyesvektort. Mekkora ennek a Minkowski hossz-négyzete?
Mutassuk meg, hogy ez is invarians maradt a fenti transzformacié utan!

c.) Mutassuk meg altalanosan, hogy ez egy Lorentz-transzformacio!

d.) Fejezzik ki a b, vektor komponenseit! Fejezzik ki a transzformalt b’, vektor
komponenseit is!

e.) Adjuk meg a A matrix azon alakjat, ami az alsé indexes vektorokat Lorentz-
transzformalja!

b'# = Aﬁvbv

f.) Mutassa meg, hogy az a"b, Minkowski skalarszorzat invarians maradt!

g.) Behelyettesitéssel mutassuk meg, hogy
AJN, =6,
azaz az alsoindexes vektorok a transzformacié inverzé(nek transzponaltjaval)
transzformalodnak.



